

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-51608-66e0a161bb878 VERIFY.FTGS.US Date : September 10, 2024

	VERIFY.FT	03.03	September 10, 20)24		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China		///////////////////////////////////////	Destination Port TianjinXingang		
Consignee	Export Date 2024-09-08	Export Date 2024-09-08		Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A			Bill of Lading / AWB 401410448588		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding / N/A	Forwarding Agent N/A		
Buyer (Importer)	Remarks Total: 1189					
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Total: 504.2	36mt				
Description (May include notes on Quantity, Item Number, Marks and Number	ers, Kind of Package	es.)	Weight	Country of Origin		
Alfalfa Hay			20.539mt	United States		
Marks: GAOU6296349 52bales Alfalfa Hay Marks: EGSU9191861 52bales			22.017mt	United States		
Alfalfa Hay			22.145mt	United States		
Marks: TEMU6277343 52bales						
Alfalfa Hay Marks: TGBU7267083 52bales			21.691mt	United States		
Alfalfa Hay Marks: EMCU8867865 52bales			22.027mt	United States		
Alfalfa Hay Marks: EMCU1569616 52bales			22.008mt	United States		
Alfalfa Hay Marks: TGBU7032387 50bales			21.011mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods c applicable in the country(ies) tc -The information in this certific accurate, true and complete. The Applicant undertakes to an Certificate (or to whom the Cer of any inaccuracy, omission or -The Applicant will maintain, an truth, accuracy and completene -In consideration for the GIC's is harmless GIC from any liability respect of any costs and/or cla 	priginate in the country(ies) spec of those goods. ate and in any documents provid dvise GIC and any other person(s tificate is provided to with the kn change in such information, or in d present upon request, such do ess of this certificate and accom ssuance of this Certificate, the A	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in tion herewith.		



Authorized Signature Farhad Ghorbani Fard

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-51608-66e0a161bb878 VERIFY.FTGS.US Date : September 10, 2024

	VERIFT.FT03.0	Juice .	September 10, 20	24	
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Load LOS ANGE		
43 Corporate Park Irvine CA USA	Destination Count China	гу	Destination I TianjinXinga		
Consignee	Export Date 2024-09-08		Exporting Ca N/A	Exporting Carrier N/A	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Import Permit Number N/A		Bill of Lading / AWB 401410448588		
	Owner or Agent N/A		Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1189 bales Total: 504.236mt				
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers. Kind of Packages.)		Weight	Country of Origin	
Alfalfa Hay		2	21.782mt	United States	
Marks: TIIU4631375 52bales					
Alfalfa Hay		2	22.163mt	United States	
Marks: EMCU8468720 52bales					
Alfalfa Hay		2	21.872mt	United States	
Marks: TEMU6254076 50bales					
Alfalfa Hay		2	21.718mt	United States	
Marks: TXGU7479104 52bales		******		XXXXXXXXX	
Alfalfa Hay Marks: EMCU8658757 52bales		2	22.163mt	United States	
Alfalfa Hay Marks: TXGU5598803 50bales		2	21.754mt	United States	
Alfalfa Hay Marks: EGHU9380497 52bales		2	22.145mt	United States	
Name of Authorized Trade Association	- The appl - The accu - The Certi of ar - The truth - In c harm resp	above-mentioned goods originat cable in the country(ies) to those information in this certificate and rate, true and complete. Applicant undertakes to advise G ficate (or to whom the Certificate y inaccuracy, omission or change Applicant will maintain, and press , accuracy and completeness of ti onsideration for the GIC's issuanc	e in the country(ies) speci goods. In any documents provide IC and any other person(s is provided to with the km. in such information, or in ant upon request, such do insi certificate and accomp e of this Certificate, the A lection with the issuance ade against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in tion herewith.	



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-51608-66e0a161bb878 VERIFY.FTGS.US Date : September 10, 2024

	VERIFY.FIC	55.05	September 10, 20	24		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China		/ / / / / / / / / / / / / / / / / / / /	Destination Port TianjinXingang		
Consignee	Export Date 2024-09-08		Exporting Ca N/A	Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A			Bill of Lading / AWB 401410448588		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	nt	Forwarding A N/A	Forwarding Agent N/A		
Buyer (Importer)	Remarks Total: 1189 b	bales		同本公型目		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	36mt					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs, Kind of Package	s.)	Weight	Country of Origin		
Alfalfa Hay			22.408mt	United States		
Marks: BMOU4858411 52bales			04.070-1			
Alfalfa Hay Marks: EGSU9334690 52bales			21.972mt	United States		
Alfalfa Hay			22.589mt	United States		
Marks: TRHU4566090 52bales						
Alfalfa Hay			21.773mt	United States		
Marks: DRYU9202540 52bales						
Alfalfa Hay			21.972mt	United States		
Marks: DRYU9844026 52bales			02.462mt	Lipited States		
Alfalfa Hay Marks: EISU9409598 51bales			22.462mt	United States		
Alfalfa Hay			21.736mt	United States		
Marks: TRHU8787294 52bales						
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advic Certificate (or to whom the Certific of any inaccuracy, omission or ch- The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GIC's issues 	pinate in the country (ies) speci- lose goods. e and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in present upon request, such do of this certificate, and accomp uance of this Certificate, the A connection with the issuance s made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and ho of this certificate and to indemnify GIC in tion herewith.		

Page 3/4



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-51608-66e0a161bb878 VERIFY.FTGS.US Date : September 10, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel Destination Country China Export Date 2024-09-08		Port of Loading LOS ANGELES		
Irvine CA USA			X / / /// / / XXXX / // / //	Destination Port TianjinXingang	
Consignee			Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110	Import Permit Number N/A		Bill of Lading / 40141044858	Bill of Lading / AWB 401410448588	
China	Owner or Age N/A	ent	Forwarding Ag N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1189 Total: 504.2				
Description (May include notes on Quantity, Item Number, Marks and Numbers	, Kind of Package	es.)	Weight	Country of Origin	
Alfalfa Hay			22.172mt	United States	
Marks: TXGU7731601 52bales			22.117mt	United States	
Alfalfa Hay Marks: EITU1697974 52bales			22.117/11	United States	
======================================					
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pi truth, accuracy and completeness -In consideration for the GIC's issue	nate in the country(ies) specified ose goods. and in any documents provided 1 e GIC and any other person(s) to ate is provided to with the knowl nge in such information, or in the resent upon request, such docu- of this certificate and accompan ance of this Certificate, the Appli onnection with the issuance of t made against GIC in connectior	d above and comply with the rules of origin to the Greater Irvine Chamber ("GIC") is whom the applicant provides this ledge of the Applicant) promptly in writing a origin of goods. nentation as is necessary to verify the ying documents. cant agrees to release, discharge and hold his certificate and to indemnify GIC in herewith.	

Price Terms:

CIF

Invoice Metric

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

Invoice No. SD-202408041 **COMMERCIAL INVOICE** Date: 8/26/24 Shipper/Exporter: **Consignee:** Healthy Green Life Corp INNER MONGOLIA SHENGDEHETAI TRADING CO., LTD 1152 S Roughcut Dr Station 3E-028, Casa Grande, AZ 85194, USA Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia Vessel: EVER MEGA **Contract No.:** SDHT-HGLC2024-7 Voyage No.: 1362-001W **Booking No.:** 401410448588 Shipping Line: Country of Origin: USA Evergreen Port of Loading: LOS ANGELES, CA Discharge: TianjinXingang, China ETD: 9/8/24 ETA: 10/5/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU4858411	A1528955	Alfalfa Supremi	52	22.408	\$390.00	\$8,739.12
DRYU9202540	A1528829	Alfalfa Supremi	52	21.773	\$390.00	\$8,491.47
DRYU9844026	A1528780	Alfalfa Supremi	52	21.972	\$390.00	\$8,569.08
EGHU9380497	A1528954	Alfalfa Supremi	52	22.145	\$390.00	\$8,636.55
EGSU9191861	A1528859	Alfalfa Supremi	52	22.017	\$390.00	\$8,586.63
EGSU9334690	A1528952	Alfalfa Supremi	52	21.972	\$390.00	\$8,569.08
EISU9409598	A1528779	Alfalfa Supremi	51	22.462	\$390.00	\$8,760.18
EITU1697974	A1528917	Alfalfa Supremi	52	22.117	\$390.00	\$8,625.63
EMCU1569616	A1528888	Alfalfa Supremi	52	22.008	\$390.00	\$8,583.12
EMCU8468720	A1528810	Alfalfa Supremi	52	22.163	\$390.00	\$8,643.57
EMCU8658757	A1528958	Alfalfa Supremi	52	22.163	\$390.00	\$8,643.57
EMCU8867865	A1528890	Alfalfa Supremi	52	22.027	\$390.00	\$8,590.53
GAOU6296349	A1528759	Alfalfa Supremi	52	20.539	\$390.00	\$8,010.21
TEMU6254076	A1528805	Alfalfa Supremi	50	21.872	\$390.00	\$8,530.08
TEMU6277343	A1528854	Alfalfa Supremi	52	22.145	\$390.00	\$8,636.55
TGBU7032387	A1528884	Alfalfa Supremi	50	21.011	\$390.00	\$8,194.29
TGBU7267083	A1528851	Alfalfa Supremi	52	21.691	\$390.00	\$8,459.49
TIIU4631375	A1528881	Alfalfa Supremi	52	21.782	\$390.00	\$8,494.98
TRHU4566090	A1528951	Alfalfa Supremi	52	22.589	\$390.00	\$8,809.71
TRHU8787294	A1528775	Alfalfa Supremi	52	21.736	\$390.00	\$8,477.04
TXGU5598803	A1528957	Alfalfa Supremi	50	21.754	\$390.00	\$8,484.06
TXGU7479104	A1528803	Alfalfa Supremi	52	21.718	\$390.00	\$8,470.02
TXGU7731601	A1528774	Alfalfa Supremi	52	22.172	\$390.00	\$8,647.08
Total Value			1,189	504.236		\$196,652.04

Invoice Metric

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE

